Page:1 6:JS slu=i

date:1399/02/19 ‘ HYdra Semi — t&é.l.oss‘ 4.0.53 L’GM{’ Psﬂ-ﬂ’

Version: 2

5111 N5 oS
Gz Slegil dad §S3L 00 65 1pb

Name: -

053 @3 (S el gloaly S

5112 NS oS
Cawl u_i_g:'l.as"j] doud QS)L: PN GS :<=l3
Name: -

OS5 @3 (S uad gloaly S

Sensor Magnet B TN “ 5936 :Yls AS

Input voltage | 24V AC | <255 35

Motor 24VDC-50-120W|  Jsige . , I ufu.i& <=L6' 9 4&-0 - (HS) U“’l &‘ 93])3 <=l.:
Application Semi.Auto CONE S ? ' 63 ij

Elevator door
o . 2X pan head cross recess screwM4 x 10 . 1
Fonalops B JAsg s 2x Hex Head Bolt M6x15 Name: Drive HS

2x Nut M6
Dimensions (mm) 180 x 55x 82 | (mm) 2x Nut M4

2x Washer 4x12x1.5

wsl |E 2x Washer 6x15x1.5 S 10 @S 28 Sa+

50 slaial, +

5113 YIS oS
S 5S 4250 90 (wlaysS ygige 1l

e 7 Name: Motor

12x Hex Head Bolt M6x12
4x Nut with Waher M6
12x Washer 6x15x1.5

3826 :YS &S

Gdds 25- )1 s C,«.&..g);d.aj\o <=_99 :fl.'a

Name: -

25x Foam bumpers

/
mlt AN YE YT R Y FE (YY) FRRARYYS ity sle b t.me/salesasr &)

Telegram




::?:::1299/02/23 ‘ Hydra Semi — &&zsl.oss‘ 4.0.53 L’&Me: Psﬂ-ﬂ’

Version: 2

3825 .35 &S

3824 VS &S

s 1/8 glasyl ANT 8,95 03y ¢ <=L3

Name: Light Curtain-Height:1.8 Meter

3823 M oS
Ao 2 glas)l ANT )9 03, : pbb

Name: Light Curtain-Height: 2 Meter

3822 NS uS
£08-CSWS by (5315 4l BsS du LS 0L

Name: Triangle key with contact-Gift

3821 NS oS
Qao-G318 GisS duw udS 1l

Name: Triangle key Steel-Gift

4 ;y;:
mlt AV SV RY A  YE PR (YY) FRRARYYS bty gle b t'me/salesasﬂg



Page: 3
date:1399/02/23

Version: 2

'Hydra Semi - SCilogil dowd w pgSdaw |

Pu + Cloth

Soundproof

L=2175 mm

3 o g2 Ao Jgb oo yizxe ol
03,8 oligS

O

RETAINING RING FOR SHAFT DIN 471- 10

.t
O

RETAINING RING FOR SHAFT DIN 471- 10

3x Hex Head Bolt M6x70

9x Nut with Waher M6

4x Carriage bolt DIN 603 - 12 x 40
4x Washer 14x28x2

4x Washer 16x40x3
4x HEX NUT M12

5114 M8 oS

Wl -Gl (’Sﬁ-‘“ dosd dowd <=U

Name: Hydra Semi Timing Belt original-Italian

d.ﬁd..wgd.’z]gow“ . Q.tgusw“"

51158 oS
poSdu 4o 3,53,0 Joy : pb

Name: Hydra Semi Dummy Pulley

5116 NS oS
podu dad Hgige oyt el

Name: Hydra Semi Motor Pulley

5117 NS oS

Name: Hydra Semi Timing Belt Holder

3911 V8 oS

Al elas)l olS Sz pb

t.me/salesasr &)

\ . -
mlt AN VS RY e  YeFE (YY) PRFARYYS sl gle pab Byql




Page: 4

date:1399/02/23 ‘ HYdra Semi — L&zjl&gj‘ 4.0.53 ‘_’JM{’ Psﬂ-ﬂ’

Version: 2

5934 NS &S

Cealy GosSlu 4 $lisS : pb

4x Carriage bolt DIN 603 - 12 x 40
4x Washer 14x28x2
4x Washer 16x40x3
4x HEX NUT M12

5935 35 oS

w2 oo das GlssS ¢ el

4x Carriage bolt DIN 603 - 12 x 40
4x Washer 14x28x2

4x Washer 16x40x3

4x HEX NUT M12

5148 N5 uS
dyd dap (S Symie dxbio @ pb

Name:

5149 NS oS

4 dw dod Gl Symie ddio ol

Name:

5386 :VS uS
O3 0 ¢S 58 pb
Name:

poSdu dod 5 Slow 0 Siie 1Olowd g3

mlt AN YE YT R Y FE (YY) FRRARYYS ity sle b t.me/salesasr@

Telegram




Page: 5

date:1399/02/23 ‘ HYdra Semi — t&r‘aﬂl.oss“ 4.0.53 ‘_’UM{’ 'ogs.l.w ’

Version: 2

adgd dod GwolS adt

Price / Jb) -Cwod | Product Code/ Jsams a5 | Length mm / mm (b,¢| System type / st & 99

5118 370 70
5119 420 80
5120 470 90

ad dw dod S add

Price / Jb,y -Cwd | Product Code/ Jyams o5 |Length mm / mm b,s | System type / s £95

5121 285 80
5122 320 90

mlt R A A LR AR 2R 2 (7)) FFFAQYYS iy sla ol t.me/salesasr @

Telegram




Page:6

date:1399/02/23 ‘ Hydra Semi — t&zsl.oss‘ 4.0.53 u.u}lg: Psﬂ-ﬂ’

Version: 1

5150 M6 oS

“ “ ~oShw dowd Ly a9l 0480 1 oL

Name: -

2x Cage nut M8

5151 Y8 us

P98 dasd di 93 JuuSy ounw 1 26
Name:-

Foudae 1315 dgb a3 3 00 JuuSy Lo

5152 :V8sS

Name: -

Faudso 1040 Jgb a3 3 0303 Juus s

;}
mlt AN SNV VE YT A oY FE (YY) FRRARYYS ity sle b t‘me/salesasﬁseﬁgﬂ



	Hydra semi-1
	Hydra semi-2
	Hydra semi-3
	Hydra semi-4
	Hydra semi-5
	Hydra semi-6

